
12345678

12345678

A

B

C

E

D

F

G

H

A

B

C

E

D

F

G

H

2023/03/16

2023/03/16

Condi Ye

Frank Fu

None

mm

01

1 of 1 FM-230316-3

Vertical Wall Bracket 19" - 2U

DATE:

APPROVED:

CHECKED:

DRAWING:

SCALE:

UNIT:

VER:

SHEET:

TITLE:

DRAWING NO: PART NO:

TECHNICAL REQUIREMENTS:
1. No scratches, bruises, deformation or any other surface defects
2. Remove sharp edge, burr and oil dirt

DELIVERY IN BULK PACKAGES:
2U wall bracket screw accessory pack: 8 sets
Including M6*16 cross screws, plastic flat washers, M6 square nuts

+M6 flange nut for fixing

Use M6*12 cross head screws for
both side panels

405

503

44
.4
5

90
.9

93.2

270
300

44
.4
5

465

93
.2

∅6.5

RAK-VWB-2U


